3

V.

For the best experience, open this PDF portfolio in
Acrobat X or Adobe Reader X, or later.

Get Adobe Reader Now!



http://www.adobe.com/go/reader


? uewlsTd
2seydJdnd HMMMZNQOH 5 } ’ r_Us san_ ¢100-€81-09z:2uoyd
! WH |= OCTOT/ST/6 | 5289w Nioufemyoy
1J93u’d) 3s0) iaweN JUaTIT) m :191eQ umeuq ®>_._ﬁ_ v_._mn_ COHC__O wvmw
J00Q 3497 - ©°PX0'9 - Hd4M |2
:uoT3drddsaa | o $ASY 2UBUIN) WE@HW\»WQU@F
dl 0°¥X0 9 €S HAM s ¥ 40 T
1JdaqunN wall 1399ys

N

\N awz8






UBWISTJYD C

:Ag umeuqg

YA Y AIVAS 52897 NI ‘SuAe 1o

°231eq umeudqg ®>_-_D V_;_mn_ COH—\___O mvmm

TSTSC

1JaqunN qor

WH

1aWeN JUITT)

Z100-£81-09Z:9U0Yd

aseyddnd

1Jd93ua) 3so)

SWIBISASYO8 |

400Q 31497 - ©°¥Xe°9 - H4M

1A9Y 1JuUldJJun)

© 2020 All Rights Reserved

dl 0°vXe°9 €S H4AM

1JaquNN walI a

v 40 ¢

ys






aseyodnd

1J93ud) 350D

TSTSC UBW3STJY) C
WH 0zeT/S1/6

Jooq 31397 -

Q°'VX0°9 - HIM

:uot3dTudsag

1A3Y 3UBJUND

dl 0°vXe°9 €S H4AM

1JaquNN walI

© 2020 All Rights Reserved

v 3O ¢

FREEDS

¢100-€8¥-09¢:duoyd

GZ89% NI ‘aukep Hod
9Al(Q Yled uolD €ve8

SW8lSASYOo8 |

]

0






PART NUMBER

STOCK NUMBER

DESCRIPTION

10 0.250-20 Square Nut 0.250-20 Square Nut

10 0.3125-18 Rectangle Nut 0.3125-18 Rectangle Nut

14 0.3125-18 Square Head Screw

11 5/16-18 Square Nut 5/16-18 Square Nut

10 6103K820_SWIVEL LEVELING MOUNT WITH THREADED HOLE STEP AP203

18 6214K350_COMFORT-GRIP KNURLED-RIM KNOB STEP AP203

10 90218A318_REUSABLE PUSH-IN RIVETS WITH ARROW SHANK STEP AP203

4 91020A240_PUSH-IN RIVETS WITH CLICK-LOCK SHANK STEP AP203

12 91465A113_GRADE A STEEL SQUARE HEAD BOLT STEP AP203

12 93886A150_REINFORCED PLASTIC KNURLED-HEAD THUMB NUT STEP AP203

10 ANSI B18.3 - 1/4-20 UNC x 1.5 Hexagon Socket Set Screw - Flat Point

12 ANSI B18.3 - 5/16 - 18 UNC - 1/2 HS HCS Hexagon Socket Head Cap Screw

2 ANSI B18.3 - 5/16 - 18 UNC - 3 1/4 HS HCS Hexagon Socket Head Cap Screw

4 ANSI B18.3 - 5/16 - 18 UNC - 3 HS HCS Hexagon Socket Head Cap Screw

50 ANSI B18.3 - 5/16 - 18 UNC - 3/4 HS HCS Hexagon Socket Head Cap Screw

10 ANSI B18.3 - 5/16-18 UNC x 0.31 Hexagon Socket Set Screw - Flat Point

2 ANSI B18.3 - 5/16-18 UNC x 0.44 Hexagon Socket Set Screw - Cone Point

4 ANSI B18.3 - 5/16-18 UNC x 0.5 Hexagon Socket Set Screw - Cone Point

2 ANSI B18.3 -5/16 - 18 UNC - 3/4- EM Hexagon Socket Head Cap Screw

8 ANSI B18.6.3-8-32x11/2 Countersunk Flat Head Screw

4 ANSI B18.6.4 - 8-32 UNC - 0.625 Cross Recessed Flat Countersunk Head Tapping Screw - Type C - Type I
14 ANSI B18.6.4 - No. 10-16 x 1 1/2 Cross Recessed Flat Countersunk Head Tapping Screw Type AB - Type I
6 ANSI B18.6.4-No.6-20-1 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
6 ANSI B18.6.4 - No. 6 - 20 - 2 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
2 ANSI B18.6.4 - No. 6-20 -3 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
2 Ceiling Converter Box

1 Ceiling Fan Lower

1 Ceiling Fan Retainer

2 Ceiling Light

1 Door Lock Block

1 DoorFootlLeg

1 DoorFootMount

1 IndexBlock_Long

1 Light Switches

18 Locator

18 Locator Threaded Rod

2 Maxwall-Sit:A Maxwall-Sit - 69.500 in

2 Maxwall-Sit:B Maxwall-Sit - 46.000 in

12 QC-#8-0.5 Square Recessed Flat Countersunk Head Wood Screw

4 SS Shelf Bracket for 10

2 SS Shelf Bracket for Desk

2 Shelf Standard

2 Short Wall Block

1 Sound Insulation:A

3 Sound Insulation:C

2 VHB Tape:SP0001 VHB Tape - 78.250 in

2 VHB Tape:SP0002 VHB Tape - 30.688 in

1 Vinyl Velcro Cover:B Vinyl Cover

1 WFH Threshold Maxdoor Threshold - 36.838

2 Wall Grommet

1 Wall Plate

1 fan

1 runko

20 0.750 in Velcro Loop:SP0001 100-40 0.750 in Velcro Loop - 85.017 in

8 0.750 in Velcro Loop:SP0002 100-40 0.750 in Velcro Loop - 43.017 in

16 0.750 in Velcro Loop:SP0003 100-40 0.750 in Velcro Loop - 31.267 in

4 0.750 in Velcro Loop:SP0005 100-40 0.750 in Velcro Loop - 4.017 in

20 0.750 in Velcro Hook:SP0001 100-50 0.750 in Velcro Hook - 85.017 in

8 0.750 in Velcro Hook:SP0002 100-50 0.750 in Velcro Hook - 43.017 in

16 0.750 in Velcro Hook:SP0003 100-50 0.750 in Velcro Hook - 31.267 in

4 0.750 in Velcro Hook:SP0004 100-50 0.750 in Velcro Hook - 4.017 in

4 Maxwall 90 Degree Extrusion:SP0001 10A20198194AN Maxwall 90 Degree Extrusion - 87.000 in

1 Maxdoor Jamb - Lockside:SP0001 10A21824166AN Maxdoor Jamb - Lockside - 80.500 in

1 Door Frame - Lockside:SP0001 10A21825166AN Door Frame - Lockside - 80.000 in

2 Door Frame:SP0001 10A21825166AN Door Frame - 34.438 in

1 Maxdoor Jamb Hinge:SP0001 10A21826166AN Maxdoor Jamb Hinge - 80.500 in

1 Door Frame - Hinge Side:SP0001 10A21827166AN Door Frame - Hinge Side - 80.000 in

5 Maxwall Frame Member:SP0001 10A21829242AN Maxwall Frame Member - 87.000 in

5 Maxwall Frame Member:SP0002 10A21829242AN Maxwall Frame Member - 87.000 in

2 Maxwall Frame Member:SP0003 10A21829242AN Maxwall Frame Member - 47.000 in

2 Maxwall Frame Member:SP0004 10A21829242AN Maxwall Frame Member - 47.000 in

8 Maxwall Frame Member:SP0005 10A21829242AN Maxwall Frame Member - 35.250 in

2 Maxwall Frame Member:SP0006 10A21829242AN Maxwall Frame Member - 6.000 in

2 Maxwall Infill:SP0001 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in
1 Maxwall Infill:SP0002 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in
1 Maxwall Infill:SP0003 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in
6 Maxwall Infill:SP0004 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 35.000 in
2 Maxwall Infill:SP0005 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 5.750 in x 35.000 in
1 Ceiling Panel:A 20-455 20-455 @ 69.250 in x 45.500 in

20 50-150 50-150 Inside Corner Angle

2 Hinge Pin:SP0001 50-180 Hinge Pin - 39.938 in

44 50-40 50-40 Outside Corner Angle - Steel (circle and square)

4 50-420 50-420 Monitor Support Bracket

1 Maxwall Monitor Mount:SP0001 80-115 80-115 @ 42.000 in x 63.000 in

1 Desk:SP0001 80-185 80-185 @ 47.750 in x 23.500 in

2 Shelf:A 80-185 80-185 @ 47.750 in x 10.000 in

1 Maxslab Infill:SP0001 CUSTOM [Acrylic - Clear] CUSTOM [Acrylic - Clear] @ 79.719 in x 34.156 in

2 Nylon Washer Nylon Washer Nylon Washer for Door Slab

Q
wn
(1]
<
O
.. <
§ D
g O
(&
o
(@]
()]
+
Y-
()]
[ -
-
| 1
Q)
. (W)
<t .
X[ <
(o] X
. (o]
m L]
| ©
m
(V2] 1 i
A s LN
¢ T |: |5 R
2L |F WL (e X |5LN
FR|I=RETIEN
© 2020 All Rights Reserved
c
()
(Y] s
N|
Q) (V)]
< N A
N~ (&
Y- | . N e
o= v U
s £ P
et §O\§|—)
g
()
g 28 g
5 i ¢
Z ©
-
0 (o= ©
o 23 S
o= g
2% ¢
P







? uewlsTd
2seydJdnd HM,MMZNQOH 5 } ’ SU% san_ ¢100-€81-09z:2uoyd
! WH |= OCTOT/ST/6 | 5289w Nioufemyoy
1J93u’d) 3s0) iaweN JUaTIT) m :191eQ umeuq ®>_._ﬁ_ v_._mn_ COHC__O muvmw
J00Q 3497 - ©°VX0'8 - Hd4M |2
:uoT3drddsaa | o $ASY 2UBUIN) WEQ.NW\»WQUQF
dl 0°¥Xe 8 ¥S HAM s ¥ 40 T
1JdaqunN wall 1399ys

\A\ w8 =/






? uewlstTd
2seydJdnd HM,MMZ.NQOH 5 } ’ SU% san_ ¢100-€81-09z:2uoyd
! WH |= OCTOT/ST/6 | 5289w Nioufemyoy
1J93u’d) 3s0) iaweN JUaTIT) m :191eQ umeuq ®>_._ﬁ_ v_._mn_ COHC__O muvmw
J00Q 3497 - ©°VX0'8 - Hd4M |2
:uoT3drddsaa | o $ASY 2UBUIN) WEQ.NW\»WQUQF
a1 0" ¥X@'8 ¥S HdiM |7 v 30 ¢
1JdaqunN wall 1399ys

w8






3 UBWI]STJ
2seydJdnd HMMMZNQOH 5 } ’ r_Us sm& ¢100-€81-09z:2uoyd
) WH |2 OTOT/ST/6 | Sseasy Ni‘sukem o
23083 3507 E— coyeq uneag| @M@ MEd UOWID £VES
J00Q 3497 - ©°VX0'8 - Hd4M |2
:uoT3drddsaa | o $ASY 2UBUIN) WE@.NW\».W&U@F
dl e°vXe'8 S HAM w ¥ 30 ¢
tJaqunN wall 1399ys






QTY

PART NUMBER

STOCK NUMBER

DESCRIPTION

Maxwall Infill:SP0001

20 - WFH_Melamine_Brite White

20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in

Maxwall Infill:SP0002

20 - WFH_Melamine_Brite White

20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in

Maxwall Infill:SP0003

20 - WFH_Melamine_Brite White

20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in

Maxwall Infill:SP0004

20 - WFH_Melamine_Brite White

20 - WFH_Melamine_Brite White @ 86.750 in x 11.500 in

Maxwall Infill:SP0O005

20 - WFH_Melamine_Brite White

20 - WFH_Melamine_Brite White @ 5.750 in x 35.000 in

10 0.250-20 Square Nut 0.250-20 Square Nut

10 0.3125-18 Rectangle Nut 0.3125-18 Rectangle Nut

16 0.3125-18 Square Head Screw

16 5/16-18 Square Nut 5/16-18 Square Nut

10 6103K820_SWIVEL LEVELING MOUNT WITH THREADED HOLE STEP AP203

20 6214K350_COMFORT-GRIP KNURLED-RIM KNOB STEP AP203

10 90218A318_REUSABLE PUSH-IN RIVETS WITH ARROW SHANK STEP AP203

4 91020A240_PUSH-IN RIVETS WITH CLICK-LOCK SHANK STEP AP203

14 91465A113_GRADE A STEEL SQUARE HEAD BOLT STEP AP203

14 93886A150_REINFORCED PLASTIC KNURLED-HEAD THUMB NUT STEP AP203

10 ANSI B18.3 - 1/4-20 UNC x 1.5 Hexagon Socket Set Screw - Flat Point
20 ANSI B18.3 - 5/16 - 18 UNC - 1/2 HS HCS Hexagon Socket Head Cap Screw

2 ANSI B18.3 - 5/16 - 18 UNC - 3 1/4 HS HCS Hexagon Socket Head Cap Screw

4 ANSI B18.3 - 5/16 - 18 UNC - 3 HS HCS Hexagon Socket Head Cap Screw

58 ANSI B18.3 - 5/16 - 18 UNC - 3/4 HS HCS Hexagon Socket Head Cap Screw

10 ANSI B18.3 - 5/16-18 UNC x 0.31 Hexagon Socket Set Screw - Flat Point
2 ANSI B18.3 - 5/16-18 UNC x 0.44 Hexagon Socket Set Screw - Cone Point
4 ANSI B18.3 - 5/16-18 UNC x 0.5 Hexagon Socket Set Screw - Cone Point
8 ANSI B18.6.3-8-32x11/2 Countersunk Flat Head Screw

4 ANSI B18.6.4 - 8-32 UNC - 0.625 Cross Recessed Flat Countersunk Head Tapping Screw - Type C - Type I
14 ANSI B18.6.4 - No. 10-16 x 1 1/2 Cross Recessed Flat Countersunk Head Tapping Screw Type AB - Type I
6 ANSI B18.6.4-No.6-20-1 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
6 ANSI B18.6.4 - No. 6 - 20 - 2 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
2 ANSI B18.6.4 - No.6-20-3 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
2 Ceiling Converter Box

1 Ceiling Fan Lower

1 Ceiling Fan Retainer

2 Ceiling Light

1 Door Lock Block

1 DoorFootlLeg

1 DoorFootMount

1 Light Switches

20 Locator

20 Locator Threaded Rod

2 Maxwall-Sit:A Maxwall-Sit - 93.000 in

2 Maxwall-Sit:B Maxwall-Sit - 46.000 in

24 QC- #8-0.5 Square Recessed Flat Countersunk Head Wood Screw
4 SS Shelf Bracket for 10

2 SS Shelf Bracket for Desk

2 Shelf Standard

2 Short Wall Block

4 Sound Insulation:B

1 Sound Insulation:E

2 VHB Tape:SP0001 VHB Tape - 78.250 in

2 VHB Tape:SP0002 VHB Tape - 30.688 in

1 Vinyl Velcro Cover:B Vinyl Cover

1 WFH Threshold Maxdoor Threshold - 36.838

2 Wall Grommet

1 Wall Plate

1 fan

1 runko

24 0.750 in Velcro Loop:SP0001 100-40 0.750 in Velcro Loop - 85.017 in

20 0.750 in Velcro Loop:SP0002 100-40 0.750 in Velcro Loop - 43.017 in

4 0.750 in Velcro Loop:SP0003 100-40 0.750 in Velcro Loop - 31.267 in

4 0.750 in Velcro Loop:SP0005 100-40 0.750 in Velcro Loop - 7.767 in

4 0.750 in Velcro Loop:SP0006 100-40 0.750 in Velcro Loop - 4.017 in

24 0.750 in Velcro Hook:SP0001 100-50 0.750 in Velcro Hook - 85.017 in

20 0.750 in Velcro Hook:SP0002 100-50 0.750 in Velcro Hook - 43.017 in

4 0.750 in Velcro Hook:SP0003 100-50 0.750 in Velcro Hook - 31.267 in

4 0.750 in Velcro Hook:SP0004 100-50 0.750 in Velcro Hook - 7.767 in

4 0.750 in Velcro Hook:SP0005 100-50 0.750 in Velcro Hook - 4.017 in

4 Maxwall 90 Degree Extrusion:SP0001 10A20198194AN Maxwall 90 Degree Extrusion - 87.000 in
1 Maxdoor Jamb - Lockside:SP0001 10A21824166AN Maxdoor Jamb - Lockside - 80.500 in

1 Door Frame - Lockside:SP0001 10A21825166AN Door Frame - Lockside - 80.000 in

2 Door Frame:SP0001 10A21825166AN Door Frame - 34.438 in

1 Maxdoor Jamb Hinge:SP0001 10A21826166AN Maxdoor Jamb Hinge - 80.500 in

1 Door Frame - Hinge Side:SP0001 10A21827166AN Door Frame - Hinge Side - 80.000 in

6 Maxwall Frame Member:SP0001 10A21829242AN Maxwall Frame Member - 87.000 in

6 Maxwall Frame Member:SP0002 10A21829242AN Maxwall Frame Member - 87.000 in

8 Maxwall Frame Member:SP0003 10A21829242AN Maxwall Frame Member - 47.000 in

2 Maxwall Frame Member:SP0004 10A21829242AN Maxwall Frame Member - 47.000 in

2 Maxwall Frame Member:SP0005 10A21829242AN Maxwall Frame Member - 35.250 in

2 Maxwall Frame Member:SP0006 10A21829242AN Maxwall Frame Member - 11.750 in

2 Maxwall Frame Member:SP0007 10A21829242AN Maxwall Frame Member - 6.000 in

8

1

1

2

2

1

Ceiling Panel:A 20-455 20-455 @ 92.750 in x 45.500 in
24 50-150 50-150 Inside Corner Angle
2 Hinge Pin:SP0001 50-180 Hinge Pin - 39.938 in
52 50-40 50-40 Outside Corner Angle - Steel (circle and square)
8 50-420 50-420 Monitor Support Bracket
1 Maxwall Monitor Mount:SP0001 80-115 80-115 @ 42.000 in x 63.000 in
1 Maxwall Monitor Mount:SP0002 80-115 80-115 @ 6.750 in x 63.000 in
1 Desk:SP0001 80-185 80-185 @ 47.750 in x 23.500 in
2 Shelf:A 80-185 80-185 @ 47.750 in x 10.000 in
1 Maxslab Infill:SP0001 CUSTOM [Acrylic - Clear] CUSTOM [Acrylic - Clear] @ 79.719 in x 34.156 in
2 Nylon Washer Nylon Washer Nylon Washer for Door Slab

Q
wn
(1]
<
O
.. <
§ D
g O
(&
o
(@]
()]
+
Y-
()]
[ -
-
| 1
Q)
. (W)
<t .
X[ <
(o] X
. (o]
w L]
|| oo
<
(V2] 1 i
A s LN
¢ T |: |5 R
2L |F WL (e X |5LN
FR|I=RETIEN
© 2020 All Rights Reserved
c
()
(Y] s
N|
Q) (V)]
< N A
N~ (&
Y- | . N e
o= v U
s £ P
et §O\§|—)
g
()
g 28 g
5 i ¢
Z ©
-
0 (o= ©
o 23 S
o= g
2% ¢
P







? uewlsTd
2seydJdnd HM,MMZ.NQOH 5 } ’ SU% san_ ¢100-€81-09z:2uoyd
! WH |= OCTOT/ST/6 | 5289w Nioufemyoy
1J93u’d) 3s0) iaweN JUaTIT) m :191eQ umeuq ®>_._ﬁ_ v_._mn_ COHC__O muvmw
J00Q 3497 - ©0°9%X0°9 - Hd4M |2
:uoT3drddsaa | o $ASY 2UBUIN) WEQ.NW\»WQUQF
dl 9°9X0°9 SS H4AM s ¥ 40 T
1JdaqunN wall 1399ys

\N awz8 *7






TSTSC uewlsTtJyd (

1JaqunN qor

WH

1aWeN JUITT)

Z100-£81-09Z:9U0Yd

:Ag umeuqg

YA Y AIVAS 52897 NI ‘SuAe 1o

°231eq umeudqg ®>_-_D V_;_mn_ CoH—\___O mvmm

aseyddnd

1Jd93ua) 3so)

JOOQd 34271 - ©°9XQ°9 - H4AM SwalsASyo9]

1A9Y 1JuUldJJun)

© 2020 All Rights Reserved

dl ©0°9X0°9 SS H4AM

1JaquNN walI

v 40 ¢






Hmﬁmmm cmswmﬂgcw C

wmmcu(ﬁ””_uas _>_I m ®N®N\m.wm_\gm;
. 1000 3397 - 9°9X0°90 Ezu
o._|®.mx®.m|mm.|&mmm v 30 €

1J3qUNN WalT

FREEDS

Z100-€8¥-09¢:duoyd

GZ89% NI ‘aukep Hod
9Al(Q Yled uolD €ve8

SwesAsyo8]






QTY PART NUMBER STOCK NUMBER DESCRIPTION
14 0.250-20 Square Nut 0.250-20 Square Nut
10 0.3125-18 Rectangle Nut 0.3125-18 Rectangle Nut
14 0.3125-18 Square Head Screw
11 5/16-18 Square Nut 5/16-18 Square Nut
14 6103K820_SWIVEL LEVELING MOUNT WITH THREADED HOLE STEP AP203
26 6214K350_COMFORT-GRIP KNURLED-RIM KNOB STEP AP203
10 90218A318_REUSABLE PUSH-IN RIVETS WITH ARROW SHANK STEP AP203
4 91020A240_PUSH-IN RIVETS WITH CLICK-LOCK SHANK STEP AP203
16 91465A113_GRADE A STEEL SQUARE HEAD BOLT STEP AP203
16 93886A150_REINFORCED PLASTIC KNURLED-HEAD THUMB NUT STEP AP203
14 ANSI B18.3 - 1/4-20 UNC x 1.5 Hexagon Socket Set Screw - Flat Point
12 ANSI B18.3 - 5/16 - 18 UNC - 1/2 HS HCS Hexagon Socket Head Cap Screw
2 ANSI B18.3 - 5/16 - 18 UNC - 3 1/4 HS HCS Hexagon Socket Head Cap Screw
4 ANSI B18.3 - 5/16 - 18 UNC - 3 HS HCS Hexagon Socket Head Cap Screw
66 ANSI B18.3 - 5/16 - 18 UNC - 3/4 HS HCS Hexagon Socket Head Cap Screw
10 ANSI B18.3 - 5/16-18 UNC x 0.31 Hexagon Socket Set Screw - Flat Point
2 ANSI B18.3 - 5/16-18 UNC x 0.44 Hexagon Socket Set Screw - Cone Point
4 ANSI B18.3 - 5/16-18 UNC x 0.5 Hexagon Socket Set Screw - Cone Point
2 ANSI B18.3 -5/16 - 18 UNC - 3/4- EM Hexagon Socket Head Cap Screw
8 ANSI B18.6.3-8-32x11/2 Countersunk Flat Head Screw
4 ANSI B18.6.4 - 8-32 UNC - 0.625 Cross Recessed Flat Countersunk Head Tapping Screw - Type C - Type I
14 ANSI B18.6.4 - No. 10-16 x 1 1/2 Cross Recessed Flat Countersunk Head Tapping Screw Type AB - Type I
6 ANSI B18.6.4-No.6-20-1 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
6 ANSI B18.6.4 - No. 6 - 20 - 2 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
2 ANSI B18.6.4 - No. 6-20 -3 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
4 Ceiling Converter Box
1 Ceiling Fan Lower
1 Ceiling Fan Retainer
4 Ceiling Light
1 Door Lock Block
1 DoorFootlLeg
1 DoorFootMount
1 IndexBlock_Long
1 Light Switches
22 Locator
26 Locator Threaded Rod
4 Maxwall-Sit:A Maxwall-Sit - 69.500 in
12 QC-#8-0.5 Square Recessed Flat Countersunk Head Wood Screw
4 SS Shelf Bracket for 10
2 SS Shelf Bracket for Desk
2 Shelf Standard
2 Short Wall Block
6 Sound Insulation:B
2 VHB Tape:SP0001 VHB Tape - 78.250 in
2 VHB Tape:SP0002 VHB Tape - 30.688 in
1 Vinyl Velcro Cover:A Vinyl Cover
1 WFH Threshold Maxdoor Threshold - 36.838
2 Wall Grommet
1 Wall Plate
1 fan
1 runko
28 0.750 in Velcro Loop:SP0001 100-40 0.750 in Velcro Loop - 85.017 in
32 0.750 in Velcro Loop:SP0002 100-40 0.750 in Velcro Loop - 31.267 in
4 0.750 in Velcro Loop:SP0004 100-40 0.750 in Velcro Loop - 4.017 in
28 0.750 in Velcro Hook:SP0001 100-50 0.750 in Velcro Hook - 85.017 in
32 0.750 in Velcro Hook:SP0002 100-50 0.750 in Velcro Hook - 31.267 in
4 0.750 in Velcro Hook:SP0003 100-50 0.750 in Velcro Hook - 4.017 in
1 Ceiling T:A 10A19745252AN Ceiling T - 69.250 in
4 Maxwall 90 Degree Extrusion:SP0001 10A20198194AN Maxwall 90 Degree Extrusion - 87.000 in
1 Maxdoor Jamb - Lockside:SP0001 10A21824166AN Maxdoor Jamb - Lockside - 80.500 in
1 Door Frame - Lockside:SP0001 10A21825166AN Door Frame - Lockside - 80.000 in
2 Door Frame:SP0001 10A21825166AN Door Frame - 34.438 in
1 Maxdoor Jamb Hinge:SP0001 10A21826166AN Maxdoor Jamb Hinge - 80.500 in
1 Door Frame - Hinge Side:SP0001 10A21827166AN Door Frame - Hinge Side - 80.000 in
7 Maxwall Frame Member:SP0001 10A21829242AN Maxwall Frame Member - 87.000 in
7 Maxwall Frame Member:SP0002 10A21829242AN Maxwall Frame Member - 87.000 in
14 Maxwall Frame Member:SP0003 10A21829242AN Maxwall Frame Member - 35.250 in
2 Maxwall Frame Member:SP0004 10A21829242AN Maxwall Frame Member - 35.250 in
2 Maxwall Frame Member:SP0005 10A21829242AN Maxwall Frame Member - 6.000 in
12 Maxwall Infill:SP0001 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 35.000 in
1 Maxwall Infill:SP0002 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 35.000 in
1 Maxwall Infill:SP0003 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 35.000 in
2 Maxwall Infill:SP0004 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 5.750 in x 35.000 in
1 Ceiling Panel:A 20-455 20-455 @ 69.250 in x 34.313 in
1 Ceiling Panel:B 20-455 20-455 @ 69.250 in x 34.313 in
28 50-150 50-150 Inside Corner Angle
2 Hinge Pin:SP0001 50-180 Hinge Pin - 39.938 in
60 50-40 50-40 Outside Corner Angle - Steel (circle and square)
4 50-420 50-420 Monitor Support Bracket
1 Maxwall Monitor Mount:SP0001 80-115 80-115 @ 30.250 in x 63.000 in
1 Desk:SP0001 80-185 80-185 @ 36.000 in x 23.500 in
2 Shelf:A 80-185 80-185 @ 36.000 in x 10.000 in
1 Maxslab Infill:SP0001 CUSTOM [Acrylic - Clear] CUSTOM [Acrylic - Clear] @ 79.719 in x 34.156 in
2 Nylon Washer Nylon Washer Nylon Washer for Door Slab

Q
wn
(1]
<
O
.. <
§ D
g O
(&
o
(@]
()]
+
Y-
()]
[ -
-
| 1
Q)
. (W)
O .
X O
(o] X
. (o]
m L]
| ©
LN
(V2] 1 i
A s . N
¢ T |: |5 R
2L |F WL (e X |5LN
FR|I=RETIEN
© 2020 All Rights Reserved
c
()
(Y] s
N|
Q) (V)]
< N A
N~ (&
Y- | . N e
o= v U
s £ P
et §O\§|—)
g
()
g 28 g
5 i ¢
Z ©
-
0 (o= ©
o 23 S
o= g
2% ¢
P







? uewlsTd
2seydJdnd HM,MMZ.NQOH 5 } ’ r_Us sm& ¢100-€81-09z:2uoyd
! WH |= OCTOT/ST/6 | 5289w Nioufemyoy
1J93u’d) 3s0) iaweN JUaTIT) m :191eQ umeuq ®>_._ﬁ_ v_gmn_ COHC__O muvmw
J00Q 3497 - ©0°9%X0°8 - Hd4M |2
:uoT3drddsaa | o $ASY 2UBUIN) WE@.NW\».WQU@F
dl ©9°9%X0°8 9S H4AM s ¥ 40 T
1JdaqunN wall 1399ys

a8 ~






UBWISTJYD C

:Ag umeuqg

OCOT/ST/6 | szsowNi‘sufemuoy

°231eq umeudqg ®>_-_D V_Lmn_ COH—\___O mvmw

TSTSC

1JaqunN qor

WH

1aWeN JUITT)

Z100-£81-09Z:9U0Yd

aseyddnd

1Jd93ua) 3so)

JOOQd 3427 - ©9°9X0°8 - HAM SWBISASYO8|

1A9Y 1JuUldJJun)

© 2020 All Rights Reserved

d1l 0°9XQ°8 9S H4AM

1JaquNN walI

v 40 ¢






TSTSC

UewlsTJdyd (

¢100-€8¥-09¢:duoyd

w m m F\_ U(_ 3 Q $J3quinN_goc :Ag umeuq )
G289 NI ‘@uhep yo4
1J49]U3) 150D “wsmz_\“—wﬂ_ﬁu ®N®N \ m“m.wmm_\:m;n_ BALIJ Yded uoulD €¥E8
JO0Qd 34971 - 0°9X0°8 - HIM cerens o)

:uot3dTudsag

1A3Y 3UBJUND

d1l 0°9XQ°8 9S H4AM

1JaquNN walI

© 2020 All Rights Reserved

v 3O ¢

FREEDS






PART NUMBER

STOCK NUMBER

DESCRIPTION

14 0.250-20 Square Nut 0.250-20 Square Nut

10 0.3125-18 Rectangle Nut 0.3125-18 Rectangle Nut

16 0.3125-18 Square Head Screw

16 5/16-18 Square Nut 5/16-18 Square Nut

14 6103K820_SWIVEL LEVELING MOUNT WITH THREADED HOLE STEP AP203

28 6214K350_COMFORT-GRIP KNURLED-RIM KNOB STEP AP203

10 90218A318_REUSABLE PUSH-IN RIVETS WITH ARROW SHANK STEP AP203

4 91020A240_PUSH-IN RIVETS WITH CLICK-LOCK SHANK STEP AP203

18 91465A113_GRADE A STEEL SQUARE HEAD BOLT STEP AP203

18 93886A150_REINFORCED PLASTIC KNURLED-HEAD THUMB NUT STEP AP203

14 ANSI B18.3 - 1/4-20 UNC x 1.5 Hexagon Socket Set Screw - Flat Point

20 ANSI B18.3 - 5/16 - 18 UNC - 1/2 HS HCS Hexagon Socket Head Cap Screw

2 ANSI B18.3 - 5/16 - 18 UNC - 3 1/4 HS HCS Hexagon Socket Head Cap Screw

4 ANSI B18.3 - 5/16 - 18 UNC - 3 HS HCS Hexagon Socket Head Cap Screw

74 ANSI B18.3 - 5/16 - 18 UNC - 3/4 HS HCS Hexagon Socket Head Cap Screw

10 ANSI B18.3 - 5/16-18 UNC x 0.31 Hexagon Socket Set Screw - Flat Point

2 ANSI B18.3 - 5/16-18 UNC x 0.44 Hexagon Socket Set Screw - Cone Point

4 ANSI B18.3 - 5/16-18 UNC x 0.5 Hexagon Socket Set Screw - Cone Point

8 ANSI B18.6.3-8-32x11/2 Countersunk Flat Head Screw

4 ANSI B18.6.4 - 8-32 UNC - 0.625 Cross Recessed Flat Countersunk Head Tapping Screw - Type C - Type I
28 ANSI B18.6.4 - No. 10-16 x 1 1/2 Cross Recessed Flat Countersunk Head Tapping Screw Type AB - Type I
12 ANSI B18.6.4-No.6-20-1 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
12 ANSI B18.6.4 - No. 6 - 20 - 2 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
4 ANSI B18.6.4 - No.6-20-3 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
4 Ceiling Converter Box

1 Ceiling Fan Lower

1 Ceiling Fan Retainer

4 Ceiling Light

1 Door Lock Block

1 DoorFootlLeg

1 DoorFootMount

1 Light Switches

22 Locator

28 Locator Threaded Rod

2 Maxwall-Sit:A Maxwall-Sit - 93.000 in

2 Maxwall-Sit:B Maxwall-Sit - 69.500 in

24 QC- #8-0.5 Square Recessed Flat Countersunk Head Wood Screw

8 SS Shelf Bracket for 10

4 SS Shelf Bracket for Desk

4 Shelf Standard

2 Short Wall Block

1 Sound Insulation:B

4 Sound Insulation:C

1 Sound Insulation:F

2 VHB Tape:SP0001 VHB Tape - 78.250 in

2 VHB Tape:SP0002 VHB Tape - 30.688 in

1 Vinyl Velcro Cover:C Vinyl Cover

1 WFH Threshold Maxdoor Threshold - 36.838

4 Wall Grommet

1 Wall Plate

1 fan

1 runko

32 0.750 in Velcro Loop:SP0001 100-40 0.750 in Velcro Loop - 85.017 in

12 0.750 in Velcro Loop:SP0002 100-40 0.750 in Velcro Loop - 43.017 in

20 0.750 in Velcro Loop:SP0003 100-40 0.750 in Velcro Loop - 31.267 in

4 0.750 in Velcro Loop:SP0005 100-40 0.750 in Velcro Loop - 7.767 in

4 0.750 in Velcro Loop:SP0006 100-40 0.750 in Velcro Loop - 4.017 in

32 0.750 in Velcro Hook:SP0001 100-50 0.750 in Velcro Hook - 85.017 in

12 0.750 in Velcro Hook:SP0002 100-50 0.750 in Velcro Hook - 43.017 in

20 0.750 in Velcro Hook:SP0003 100-50 0.750 in Velcro Hook - 31.267 in

4 0.750 in Velcro Hook:SP0004 100-50 0.750 in Velcro Hook - 7.767 in

4 0.750 in Velcro Hook:SP0005 100-50 0.750 in Velcro Hook - 4.017 in

1 Ceiling T:A 10A19745252AN Ceiling T - 69.250 in

4 Maxwall 90 Degree Extrusion:SP0001 10A20198194AN Maxwall 90 Degree Extrusion - 87.000 in

1 Maxdoor Jamb - Lockside:SP0001 10A21824166AN Maxdoor Jamb - Lockside - 80.500 in

1 Door Frame - Lockside:SP0001 10A21825166AN Door Frame - Lockside - 80.000 in

2 Door Frame:SP0001 10A21825166AN Door Frame - 34.438 in

1 Maxdoor Jamb Hinge:SP0001 10A21826166AN Maxdoor Jamb Hinge - 80.500 in

1 Door Frame - Hinge Side:SP0001 10A21827166AN Door Frame - Hinge Side - 80.000 in

8 Maxwall Frame Member:SP0001 10A21829242AN Maxwall Frame Member - 87.000 in

8 Maxwall Frame Member:SP0002 10A21829242AN Maxwall Frame Member - 87.000 in

2 Maxwall Frame Member:SP0003 10A21829242AN Maxwall Frame Member - 47.000 in

4 Maxwall Frame Member:SP0004 10A21829242AN Maxwall Frame Member - 47.000 in

10 Maxwall Frame Member:SP0005 10A21829242AN Maxwall Frame Member - 35.250 in

2 Maxwall Frame Member:SP0006 10A21829242AN Maxwall Frame Member - 11.750 in

2 Maxwall Frame Member:SP0007 10A21829242AN Maxwall Frame Member - 6.000 in

2 Maxwall Infill:SP0001 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in
3 Maxwall Infill:SP0002 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in
1 Maxwall Infill:SP0003 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in
8 Maxwall Infill:SP0004 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 35.000 in
2 Maxwall Infill:SP0O005 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 11.500 in
2 Maxwall Infill:SP0006 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 5.750 in x 35.000 in
1 Ceiling Panel:A 20-455 20-455 @ 69.250 in x 46.063 in

1 Ceiling Panel:B 20-455 20-455 @ 69.250 in x 46.063 in

32 50-150 50-150 Inside Corner Angle

2 Hinge Pin:SP0001 50-180 Hinge Pin - 39.938 in

68 50-40 50-40 Outside Corner Angle - Steel (circle and square)

8 50-420 50-420 Monitor Support Bracket

2 Maxwall Monitor Mount:SP0001 80-115 80-115 @ 42.000 in x 63.000 in

1 Desk:SP0001 80-185 80-185 @ 94.750 in x 23.500 in

2 Shelf:A 80-185 80-185 @ 94.750 in x 10.000 in

1 Maxslab Infill:SP0001 CUSTOM [Acrylic - Clear] CUSTOM [Acrylic - Clear] @ 79.719 in x 34.156 in

2 Nylon Washer Nylon Washer Nylon Washer for Door Slab

Q
wn
(1]
<
O
.. <
§ D
g O
(&
o
(@]
()]
+
Y-
()]
[ -
-
| 1
Q)
. (W)
O .
X O
(o] X
. (o]
w L]
|| oo
O
(V2] 1 i
A s . N
¢ T |: |5 R
2L |F WL (e X |5LN
FR|I=RETIEN
© 2020 All Rights Reserved
c
()
(Y] s
N|
Q) (V)]
< N A
N~ (&
Y- | . N e
o= v U
s £ P
et §O\§|—)
g
()
g 28 g
5 i ¢
Z ©
-
0 (o= ©
o 23 S
o= g
2% ¢
P







? uewlsTd
2seydJdnd HM,MMZ.NQOH 5 } ’ r_Us san_ ¢100-€81-09z:2uoyd
! WH |= OCTOT/ST/6 | 5289w Nioufemyoy
1J93u’d) 3s0) iaweN JUaTIT) m :191eQ umeuq ®>_._ﬁ_ v_gmn_ COHC__O muvmw
J00Q 3497 - ©°8X0°9 - Hd4M |2
:uoT3drddsaa | o $ASY 2UBUIN) WE@.NW\».WQU@F
dl 9°8X0°9 /S H4AM s ¥ 40 T
1JdaqunN wall 1399ys

/- anvzs w4






UBWISTJYD C

:Ag umeuqg

OCOT/ST/6 | szsowNi‘sufemuoy

°231eq umeudqg ®>_-_D V_Lmn_ COH—\___O mvmw

TSTSC

1JaqunN qor

WH

1aWeN JUITT)

Z100-£81-09Z:9U0Yd

aseyddnd

1Jd93ua) 3so)

Joo@ 31397 - ©°8X0°'9 - H4M

SWIBlSASYO8 |

© 2020 All Rights Reserved

dl 0°8X0'9 LS H4M v 40 ¢

1JaquNN walI 1100






Hmﬁmmm cmswmﬂgcw C

wmmcuﬂ”cnm_:ms _>=._ m ®N®N\mﬂ\5Ma
: J00d 3397 - 9°8X0°9 -Im&w
e

Z100-€8¥-09¢:duoyd

GZ89% NI ‘aukep Hod
9Al(Q Yled uolD €ve8

SwesAsyo8]

r i

f 1






Maxwall Infill:SP0001

20 - WFH_Melamine_Brite White

20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in

Maxwall Infill:SP0002

20 - WFH_Melamine_Brite White

20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in

Maxwall Infill:SP0003

20 - WFH_Melamine_Brite White

20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in

Maxwall Infill:SP0004

20 - WFH_Melamine_Brite White

20 - WFH_Melamine_Brite White @ 86.750 in x 35.000 in

Maxwall Infill:SP0O005

20 - WFH_Melamine_Brite White

20 - WFH_Melamine_Brite White @ 5.750 in x 35.000 in

QTY PART NUMBER STOCK NUMBER DESCRIPTION

14 0.250-20 Square Nut 0.250-20 Square Nut

10 0.3125-18 Rectangle Nut 0.3125-18 Rectangle Nut

14 0.3125-18 Square Head Screw

19 5/16-18 Square Nut 5/16-18 Square Nut

14 6103K820_SWIVEL LEVELING MOUNT WITH THREADED HOLE STEP AP203
26 6214K350_COMFORT-GRIP KNURLED-RIM KNOB STEP AP203

10 90218A318_REUSABLE PUSH-IN RIVETS WITH ARROW SHANK STEP AP203

4 91020A240_PUSH-IN RIVETS WITH CLICK-LOCK SHANK STEP AP203

16 91465A113_GRADE A STEEL SQUARE HEAD BOLT STEP AP203

16 93886A150_REINFORCED PLASTIC KNURLED-HEAD THUMB NUT STEP AP203

14 ANSI B18.3 - 1/4-20 UNC x 1.5 Hexagon Socket Set Screw - Flat Point
20 ANSI B18.3 - 5/16 - 18 UNC - 1/2 HS HCS Hexagon Socket Head Cap Screw

2 ANSI B18.3 - 5/16 - 18 UNC - 3 1/4 HS HCS Hexagon Socket Head Cap Screw

4 ANSI B18.3 - 5/16 - 18 UNC - 3 HS HCS Hexagon Socket Head Cap Screw

66 ANSI B18.3 - 5/16 - 18 UNC - 3/4 HS HCS Hexagon Socket Head Cap Screw

10 ANSI B18.3 - 5/16-18 UNC x 0.31 Hexagon Socket Set Screw - Flat Point
2 ANSI B18.3 - 5/16-18 UNC x 0.44 Hexagon Socket Set Screw - Cone Point
4 ANSI B18.3 - 5/16-18 UNC x 0.5 Hexagon Socket Set Screw - Cone Point
2 ANSI B18.3 -5/16 - 18 UNC - 3/4- EM Hexagon Socket Head Cap Screw

8 ANSI B18.6.3-8-32x11/2 Countersunk Flat Head Screw

4 ANSI B18.6.4 - 8-32 UNC - 0.625 Cross Recessed Flat Countersunk Head Tapping Screw - Type C - Type I
28 ANSI B18.6.4 - No. 10-16 x 1 1/2 Cross Recessed Flat Countersunk Head Tapping Screw Type AB - Type I
12 ANSI B18.6.4-No.6-20-1 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
12 ANSI B18.6.4 - No. 6 - 20 - 2 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
4 ANSI B18.6.4 - No. 6-20 -3 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
4 Ceiling Converter Box

1 Ceiling Fan Lower

1 Ceiling Fan Retainer

4 Ceiling Light

1 Door Lock Block

1 DoorFootlLeg

1 DoorFootMount

1 IndexBlock_Long

1 Light Switches

20 Locator

26 Locator Threaded Rod

2 Maxwall-Sit:A Maxwall-Sit - 93.000 in

2 Maxwall-Sit:B Maxwall-Sit - 69.500 in

24 QC-#8-0.5 Square Recessed Flat Countersunk Head Wood Screw
8 SS Shelf Bracket for 10

4 SS Shelf Bracket for Desk

4 Shelf Standard

2 Short Wall Block

2 Sound Insulation:B

3 Sound Insulation:C

2 VHB Tape:SP0001 VHB Tape - 78.250 in

2 VHB Tape:SP0002 VHB Tape - 30.688 in

1 Vinyl Velcro Cover:B Vinyl Cover

1 WFH Threshold Maxdoor Threshold - 36.838

4 Wall Grommet

1 Wall Plate

1 fan

1 runko

28 0.750 in Velcro Loop:SP0001 100-40 0.750 in Velcro Loop - 85.017 in

16 0.750 in Velcro Loop:SP0002 100-40 0.750 in Velcro Loop - 43.017 in

16 0.750 in Velcro Loop:SP0003 100-40 0.750 in Velcro Loop - 31.267 in

4 0.750 in Velcro Loop:SP0005 100-40 0.750 in Velcro Loop - 4.017 in

28 0.750 in Velcro Hook:SP0001 100-50 0.750 in Velcro Hook - 85.017 in

16 0.750 in Velcro Hook:SP0002 100-50 0.750 in Velcro Hook - 43.017 in

16 0.750 in Velcro Hook:SP0003 100-50 0.750 in Velcro Hook - 31.267 in

4 0.750 in Velcro Hook:SP0004 100-50 0.750 in Velcro Hook - 4.017 in

1 Ceiling T:A 10A19745252AN Ceiling T - 69.250 in

4 Maxwall 90 Degree Extrusion:SP0001 10A20198194AN Maxwall 90 Degree Extrusion - 87.000 in
1 Maxdoor Jamb - Lockside:SP0001 10A21824166AN Maxdoor Jamb - Lockside - 80.500 in

1 Door Frame - Lockside:SP0001 10A21825166AN Door Frame - Lockside - 80.000 in

2 Door Frame:SP0001 10A21825166AN Door Frame - 34.438 in

1 Maxdoor Jamb Hinge:SP0001 10A21826166AN Maxdoor Jamb Hinge - 80.500 in

1 Door Frame - Hinge Side:SP0001 10A21827166AN Door Frame - Hinge Side - 80.000 in

7 Maxwall Frame Member:SP0001 10A21829242AN Maxwall Frame Member - 87.000 in

7 Maxwall Frame Member:SP0002 10A21829242AN Maxwall Frame Member - 87.000 in

4 Maxwall Frame Member:SP0003 10A21829242AN Maxwall Frame Member - 47.000 in

4 Maxwall Frame Member:SP0004 10A21829242AN Maxwall Frame Member - 47.000 in

8 Maxwall Frame Member:SP0005 10A21829242AN Maxwall Frame Member - 35.250 in

2 Maxwall Frame Member:SP0006 10A21829242AN Maxwall Frame Member - 6.000 in

4

3

1

6

2

1

1

Ceiling Panel:A 20-455 20-455 @ 69.250 in x 46.063 in
Ceiling Panel:B 20-455 20-455 @ 69.250 in x 46.063 in
28 50-150 50-150 Inside Corner Angle
2 Hinge Pin:SP0001 50-180 Hinge Pin - 39.938 in
60 50-40 50-40 Outside Corner Angle - Steel (circle and square)
8 50-420 50-420 Monitor Support Bracket
2 Maxwall Monitor Mount:SP0001 80-115 80-115 @ 42.000 in x 63.000 in
1 Desk:SP0001 80-185 80-185 @ 94.750 in x 23.500 in
2 Shelf:A 80-185 80-185 @ 94.750 in x 10.000 in
1 Maxslab Infill:SP0001 CUSTOM [Acrylic - Clear] CUSTOM [Acrylic - Clear] @ 79.719 in x 34.156 in
2 Nylon Washer Nylon Washer Nylon Washer for Door Slab

Q
wn
(1]
<
O
.. <
§ D
g O
(&
o
(@]
()]
+
Y-
()]
[ -
-
| 1
Q)
. (W)
00 .
X o0
(o] X
. (o]
m L]
| ©
N~
(V2] 1 i
A s . N
¢ T |: |5 R
2L |F WL (e X |5LN
FR|I=RETIEN
© 2020 All Rights Reserved
c
()
(Y] s
N|
Q) (V)]
< N A
N~ (&
Y- | . N e
o= v U
s £ P
et §O\§|—)
g
()
g 28 g
5 i ¢
Z ©
-
0 (o= ©
o 23 S
o= g
2% ¢
P







aseyodnd

1J93ud) 350D

TSTSC

1JaqunN qoC

UBWISTJYD

:Ag umeuq

WH

TaweN JUITTI

0CoOC/ST/6

:93eQ umedq

4000 313°71 - 0°8XQT - H4M

:uot3dTudsag

1A3Y 3UBJUND

dl ©°8XQT 6S H4AM

1JaquNN walI

© 2020 All Rights Reserved

7 301

FREEDS

¢100-€8¥-09¢:duoyd

GZ89% NI ‘aukep Hod
9Al(Q Yled uolD €ve8

SW8lSASYOo8 |






UBWISTJYD C

:Ag umeuqg

OCOT/ST/6 | szsowNi‘sufemuoy

a3eq umeq SALIQ dled uojulid €v€8

TSTSC

:JaquINN- qog

WH

1aWeN JUITT)

Z100-€8%-09Z:8U0yd

aseyddnd

1J93ud) 350D

J00(Q 34971 - 0°8XQT - H4M SWB1SASYO8]

1A9Y 1JuUldJJun)

d1l 90°8X0T 6S H4M

1JaquNN walI

© 2020 All Rights Reserved

v 40 ¢






TSTSC

UewlsTJdyd (

¢100-€8¥-09¢:duoyd

w m m F\_ U(_ 3 Q $J3quinN_goc :Ag umeuq )
G289 NI ‘@uhep yo4
1J49]U3) 150D “wsmz_\“_lﬂ_c ®N®N \ m“mnwﬂg\:m;n_ BALIJ Yded uoulD €¥E8
JO0d 33971 - 0°8XQT - H4M oA yon)

:uot3dTudsag

1A3Y 3UBJUND

dl ©°8XQT 6S H4AM

1JaquNN walI

© 2020 All Rights Reserved

v 3O ¢

FREEDS






PART NUMBER

STOCK NUMBER

DESCRIPTION

18 0.250-20 Square Nut 0.250-20 Square Nut

10 0.3125-18 Rectangle Nut 0.3125-18 Rectangle Nut

16 0.3125-18 Square Head Screw

16 5/16-18 Square Nut 5/16-18 Square Nut

18 6103K820_SWIVEL LEVELING MOUNT WITH THREADED HOLE STEP AP203

36 6214K350_COMFORT-GRIP KNURLED-RIM KNOB STEP AP203

10 90218A318_REUSABLE PUSH-IN RIVETS WITH ARROW SHANK STEP AP203

4 91020A240_PUSH-IN RIVETS WITH CLICK-LOCK SHANK STEP AP203

22 91465A113_GRADE A STEEL SQUARE HEAD BOLT STEP AP203

22 93886A150_REINFORCED PLASTIC KNURLED-HEAD THUMB NUT STEP AP203

18 ANSI B18.3 - 1/4-20 UNC x 1.5 Hexagon Socket Set Screw - Flat Point

20 ANSI B18.3 - 5/16 - 18 UNC - 1/2 HS HCS Hexagon Socket Head Cap Screw

2 ANSI B18.3 - 5/16 - 18 UNC - 3 1/4 HS HCS Hexagon Socket Head Cap Screw

4 ANSI B18.3 - 5/16 - 18 UNC - 3 HS HCS Hexagon Socket Head Cap Screw

90 ANSI B18.3 - 5/16 - 18 UNC - 3/4 HS HCS Hexagon Socket Head Cap Screw

10 ANSI B18.3 - 5/16-18 UNC x 0.31 Hexagon Socket Set Screw - Flat Point

2 ANSI B18.3 - 5/16-18 UNC x 0.44 Hexagon Socket Set Screw - Cone Point

4 ANSI B18.3 - 5/16-18 UNC x 0.5 Hexagon Socket Set Screw - Cone Point

8 ANSI B18.6.3-8-32x11/2 Countersunk Flat Head Screw

4 ANSI B18.6.4 - 8-32 UNC - 0.625 Cross Recessed Flat Countersunk Head Tapping Screw - Type C - Type I
28 ANSI B18.6.4 - No. 10-16 x 1 1/2 Cross Recessed Flat Countersunk Head Tapping Screw Type AB - Type I
12 ANSI B18.6.4-No.6-20-1 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
12 ANSI B18.6.4 - No. 6 - 20 - 2 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
4 ANSI B18.6.4 - No.6-20-3 Cross Recessed Oval Countersunk Head Tapping Screw - Type AB - Type I
6 Ceiling Converter Box

1 Ceiling Fan Lower

1 Ceiling Fan Retainer

6 Ceiling Light

1 Door Lock Block

1 DoorFootlLeg

1 DoorFootMount

1 Light Switches

26 Locator

36 Locator Threaded Rod

2 Maxwall-Sit:A Maxwall-Sit - 128.250 in

2 Maxwall-Sit:B Maxwall-Sit - 93.000 in

24 QC- #8-0.5 Square Recessed Flat Countersunk Head Wood Screw

8 SS Shelf Bracket for 10

4 SS Shelf Bracket for Desk

4 Shelf Standard

2 Short Wall Block

5 Sound Insulation:B

2 Sound Insulation:C

1 Sound Insulation:F

2 VHB Tape:SP0001 VHB Tape - 78.250 in

2 VHB Tape:SP0002 VHB Tape - 30.688 in

1 Vinyl Velcro Cover:C Vinyl Cover

1 WFH Threshold Maxdoor Threshold - 36.838

4 Wall Grommet

1 Wall Plate

1 fan

1 runko

40 0.750 in Velcro Loop:SP0001 100-40 0.750 in Velcro Loop - 85.017 in

28 0.750 in Velcro Loop:SP0002 100-40 0.750 in Velcro Loop - 43.017 in

12 0.750 in Velcro Loop:SP0003 100-40 0.750 in Velcro Loop - 31.267 in

4 0.750 in Velcro Loop:SP0005 100-40 0.750 in Velcro Loop - 7.767 in

4 0.750 in Velcro Loop:SP0006 100-40 0.750 in Velcro Loop - 4.017 in

40 0.750 in Velcro Hook:SP0001 100-50 0.750 in Velcro Hook - 85.017 in

28 0.750 in Velcro Hook:SP0002 100-50 0.750 in Velcro Hook - 43.017 in

12 0.750 in Velcro Hook:SP0003 100-50 0.750 in Velcro Hook - 31.267 in

4 0.750 in Velcro Hook:SP0004 100-50 0.750 in Velcro Hook - 7.767 in

4 0.750 in Velcro Hook:SP0005 100-50 0.750 in Velcro Hook - 4.017 in

2 Ceiling T:A 10A19745252AN Ceiling T - 92.750 in

4 Maxwall 90 Degree Extrusion:SP0001 10A20198194AN Maxwall 90 Degree Extrusion - 87.000 in

1 Maxdoor Jamb - Lockside:SP0001 10A21824166AN Maxdoor Jamb - Lockside - 80.500 in

1 Door Frame - Lockside:SP0001 10A21825166AN Door Frame - Lockside - 80.000 in

2 Door Frame:SP0001 10A21825166AN Door Frame - 34.438 in

1 Maxdoor Jamb Hinge:SP0001 10A21826166AN Maxdoor Jamb Hinge - 80.500 in

1 Door Frame - Hinge Side:SP0001 10A21827166AN Door Frame - Hinge Side - 80.000 in

10 Maxwall Frame Member:SP0001 10A21829242AN Maxwall Frame Member - 87.000 in

10 Maxwall Frame Member:SP0002 10A21829242AN Maxwall Frame Member - 87.000 in

6 Maxwall Frame Member:SP0003 10A21829242AN Maxwall Frame Member - 47.000 in

8 Maxwall Frame Member:SP0004 10A21829242AN Maxwall Frame Member - 47.000 in

4 Maxwall Frame Member:SP0005 10A21829242AN Maxwall Frame Member - 35.250 in

2 Maxwall Frame Member:SP0006 10A21829242AN Maxwall Frame Member - 35.250 in

2 Maxwall Frame Member:SP0007 10A21829242AN Maxwall Frame Member - 11.750 in

2 Maxwall Frame Member:SP0008 10A21829242AN Maxwall Frame Member - 6.000 in

10 Maxwall Infill:SP0001 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in
3 Maxwall Infill:SP0002 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in
1 Maxwall Infill:SP0003 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 46.750 in
4 Maxwall Infill:SP0004 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 35.000 in
2 Maxwall Infill:SP0005 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 86.750 in x 11.500 in
2 Maxwall Infill:SP0006 20 - WFH_Melamine_Brite White 20 - WFH_Melamine_Brite White @ 5.750 in x 35.000 in
2 Ceiling Panel:A 20-455 20-455 @ 92.750 in x 42.333 in

1 Ceiling Panel:B 20-455 20-455 @ 92.750 in x 42.333 in

40 50-150 50-150 Inside Corner Angle

2 Hinge Pin:SP0001 50-180 Hinge Pin - 39.938 in

84 50-40 50-40 Outside Corner Angle - Steel (circle and square)

8 50-420 50-420 Monitor Support Bracket

2 Maxwall Monitor Mount:SP0001 80-115 80-115 @ 42.000 in x 63.000 in

1 Desk:SP0001 80-185 80-185 @ 94.750 in x 23.500 in

2 Shelf:A 80-185 80-185 @ 94.750 in x 10.000 in

1 Maxslab Infill:SP0001 CUSTOM [Acrylic - Clear] CUSTOM [Acrylic - Clear] @ 79.719 in x 34.156 in

2 Nylon Washer Nylon Washer Nylon Washer for Door Slab

Q
wn
(1]
<
O
.. <
§ D
g O
(&
(@]
(@]
()]
+
U
Q
[ -
-
| 1
(AY)
. (W)
00 .
X o0
(o] X
i (V)
| «
(@)
(V2] 1 i
A s LN
¢ T |: |5 R
2L |F WL (e X |5LN
FR|I=RETIEN
© 2020 All Rights Reserved
c
()
(Y] s
N|
Q) (V)]
< N A
N~ (&
Y- | . N e
o= v U
s £ P
et §O\§|—)
g
()
g 28 g
5 i ¢
Z ©
-
0 (o= ©
o 23 S
o= g
2% ¢
P






